Math 240
Name (s):  

Review for Test #2
1. Are the vectors [1, 2, 3, 1], [2, 2, 1, 3], and [-1, 2, 7, -3] linearly independent?  If not, write one as a linear combination of the other two.

2. Let W = sp({[1, -3, 1], [2, 1, -4], [9, -13, -3]}).  Find a basis for W.
3. Find a basis for the column space of 
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4. Find a basis for the row space of 
[image: image2.wmf]ú

ú

ú

û

ù

ê

ê

ê

ë

é

1

1

2

0

2

0

1

2

1

2

1

0


5. Find a basis for the null space of 
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6. Find the rank of the matrix 
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.
7. T(v) is a linear transformation.  If T([1, 0])=[3, -1] and T([0, 1]) = [-2, 5], find T[-2, 2]. 
8. Is the following a vector space:  The set of all 2X2 matrices.  Scalar multiplication defined in the regular way.  Addition defined by A + B = 
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9. Is the set of vectors {x, x2 + 1, (x + 1)2} a basis for P2 (the vector space of all polynomials of degree 2 or less?)
10. Find the coordinate vector for x3 + 3x2 – 4x + 2 relative to the basis {x, x2 – 1, x3, 2x2}
11. Determine if the function T:P3 -> P3 defined by T(p) = 3p.  Is T(p) a linear transformation?
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